

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

#### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SKB 2345B

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	AIRCON CONDENSER	NOT NECESSARY	1,083.00	-
1	FRONT BONNET	TO REPAIR SEE LABOUR	2,500.00	-
2	FRONT BONNET MECHANISM LOCK (LOWER) L/R @ \$230.00	NOT NECESSARY	460.00	-
2	FRONT BONNET MECHANISM LOCK (UPPER) L/R @ \$85.00	NOT NECESSARY	170.00	-
1	FRONT BUMPER	DEFORMED	1,400.00	1,400.00
1	FRONT BUMPER 'LOGO' EMBLEM	NECESSARY	67.75	67.75
2	FRONT BUMPER AIR DUCT L/R @\$50.25	NOT NECESSARY	100.50	-
2	FRONT BUMPER FOGLAMP L/R @\$480.00	CRACKED	960.00	960.00
2	FRONT BUMPER INNER GARNISH SUPPORT L/R @\$54.45	DEFORMED	108.90	108.90
1	FRONT BUMPER INNER SPONGE	CRACKED	93.20	93.20
1	FRONT BUMPER LOWER CENTER GRILLE	DEFORMED	96.70	96.70
2	FRONT BUMPER LOWER GRILLE L/R @\$195.50	DEFORMED	391.00	391.00
2	FRONT BUMPER LOWER GRILLE MOULDING L/R @ \$33.60	NOT NECESSARY	67.20	-
1	FRONT BUMPER LOWER REINFORCEMENT	BENT	171.10	171.10
4	FRONT BUMPER PARKING SENSOR @\$231.10	DAMAGED (2PCS ONLY)	924.40	462.20
4	FRONT BUMPER PARKING SENSOR 'O' RING @\$6.00	NECESSARY	24.00	24.00
4	FRONT BUMPER PARKING SENSOR HOLDER @\$31.20	NECESSARY	124.80	124.80
1	FRONT BUMPER PARKING SENSOR WIRE HARNESS	NOT NECESSARY	223.75	-
1	FRONT BUMPER RUBBER SEAL	NOT NECESSARY	41.30	-
2	FRONT BUMPER SIDE RETAINER L/R @\$16.20	DAMAGED	32.40	32.40
1	FRONT BUMPER TOW HOOK COVER	NOT NECESSARY	35.00	-
1	FRONT BUMPER UPPER PANEL	NOT NECESSARY	171.55	-
1	FRONT BUMPER UPPER REINFORCEMENT	BENT	668.10	668.10
2	FRONT BUMPER UPPER REINFORCEMENT BRACKET L/R @\$56.55	NOT NECESSARY	113.10	-
2	FRONT BUMPER WASHER COVER BRACKET L/R @\$5.85	DAMAGED	11.70	11.70
2	FRONT BUMPER WASHER COVER L/R @\$34.60	NOT NECESSARY	69.20	-
2	FRONT BUMPER WASHER NOZZLE L/R @\$190.00	DAMAGED	380.00	380.00

Report Ref No. CS/AGI22006251/Aqy3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	FRONT CROSS SUPPORT BRACKET L/R @\$50.00	DAMAGED	100.00	100.00
2	FRONT FENDER INNER TOP GARNISH COVER L/R @ \$250.00	TORN	500.00	500.00
2	FRONT GRILLE L/R @\$190.00	CUT	380.00	380.00
2	FRONT HEADLAMP BRACKET L/R @\$250.00	CRACKED	500.00	500.00
2	FRONT HEADLAMP L/R @\$4300.00	CRACKED	8,600.00	5,000.00
2	FRONT HEADLAMP SIDE BAR BRACKET L/R @\$17.95	NOT NECESSARY	35.90	-
1	FRONT LH AIR CHANNEL	NOT NECESSARY	31.10	-
2	FRONT SEAT HEAD REST L/R @\$793.50	DAMAGED	1,587.00	1,587.00
2	FRONT SEAT HEAD REST SENSOR L/R @\$193.35	ACTIVATED	386.70	386.70
1	FRONT TOP PANEL	DENTED	395.00	395.00
1	RADIATOR AIR GUIDE	CRACKED	450.00	450.00
1	RADIATOR UPPER GARNISH	CRACKED	105.00	105.00
2	RADIATOR UPPER PLUG CLIPS @\$12.00	NOT NECESSARY	24.00	-
1	REAR BOOTLID	DENTED	1,762.64	1,762.64
1	REAR BOOTLID '523I' EMBLEM	NECESSARY	68.81	68.81
1	REAR BOOTLID 'LOGO' EMBLEM	NECESSARY	78.00	78.00
1	REAR BOOTLID AUTO CLOSE MOTOR	NOT NECESSARY	78.00	-
1	REAR BOOTLID MECHANISM LOCK	DAMAGED	467.89	355.00
2	REAR BOOTLID RUBBER GUIDE STOPPER L/R @\$30.86	NOT NECESSARY	61.72	-
1	REAR BOOTLID SMART OPENER CONTROL UNIT	NOT NECESSARY	490.93	-
1	REAR BOOTLID WEATHER STRIP	CUT	193.66	193.66
1	REAR BRAKE CONTROL UNIT	CRACKED	1,207.13	1,207.13
1	REAR BUMPER	DISTORTED	1,613.92	1,613.92
1	REAR BUMPER CENTER LOWER COVER	MISSING	142.00	142.00
1	REAR BUMPER INNER CENTER FRAME GARNISH	CRACKED	198.00	198.00
1	REAR BUMPER REINFORCEMENT	DENTED	785.67	785.67
1	REAR BUMPER REINFORCEMENT ADAPTER GARNISH	CRACKED	112.00	112.00
4	REAR BUMPER REVERSE SENSOR @\$260.54	DAMAGED (2PCS ONLY)	1,042.16	521.08
4	REAR BUMPER REVERSE SENSOR 'O' RING @\$11.00	NECESSARY	44.00	44.00
4	REAR BUMPER REVERSE SENSOR HOLDER @\$28.00	NECESSARY	112.00	112.00
1	REAR BUMPER REVERSE SENSOR WIRE HARNESS	NOT NECESSARY	950.00	-
1	REAR BUMPER RH LOWER COVER	TORN	92.00	92.00

Report Ref No. CS/AGI22006251/Aqy3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	REAR BUMPER SIDE BRACKET L/R @\$151.53	CRACKED	303.06	303.06
1	REAR END PANEL	DENTED	1,208.00	950.00
1	REAR END PANEL LOWER PANEL	DENTED	294.30	294.30
1	REAR END PANEL TOP GARNISH	DEFORMED	109.50	109.50
2	REAR EXHAUST CHROME TAIL PIPE L/R @\$143.61	BENT	287.22	287.22
1	REAR EXHAUST SILENCER ALUMINIUM HEAT SHIELD	NOT NECESSARY	143.16	-
1	REAR EXHAUST SILENCER BOX	BENT	1,678.10	1,350.00
1	REAR EXHAUST SILENCER GASKET KIT	NOT NECESSARY	66.00	-
2	REAR EXHAUST SILENCER RUBBER MOUNTING @\$33.00	NOT NECESSARY	66.00	-
1	REAR KEYLESS ANTENNA SENSOR	CRACKED	105.98	105.98
1	REAR SPARE TYRE TOP BOARD COVER	NOT NECESSARY	751.85	-
2	REAR TAILLAMP L/R @\$629.47	CRACKED	1,258.94	1,258.94
	LESS 5% DISCOUNT		-1,967.80	-
	LESS 10% DISCOUNT		-	-2,634.05
			37,388.19	23,706.41
	SPECIAL NETT ITEMS			
1	SET FRONT BONNET INSULATOR MAT CLIPS (SN)	NOT NECESSARY	50.00	-
1	SET FRONT BUMPER CLIPS (SN)	NECESSARY	50.00	30.00
1	SET FRONT BUMPER RIVET (SN)	NECESSARY	50.00	30.00
2	SET FRONT FENDER INNER TOP GARNISH CLIPS - L/R @ \$40.00 (SN)	NECESSARY	80.00	40.00
1	FRONT NUMBER PLATE (SN)	BENT	35.00	35.00
1	FRONT NUMBER PLATE HOLDER (SN)	DEFORMED	50.00	30.00
1	RADIATOR COOLANT (SN)	NOT NECESSARY	60.00	-
1	SET REAR BOOTLID INNER TRIM GARNISH CLIPS (SN)	NOT NECESSARY	50.00	-
1	SET REAR END PANEL INNER TOP GARNISH CLIPS (SN)	NECESSARY	30.00	10.00
1	REAR END PANEL SEALANT (SN)	NECESSARY	100.00	60.00
2	SET REAR FENDER INNER TRIM GARNISH CLIPS - L/R @ \$50.00 (SN)	NOT NECESSARY	100.00	-
1	REAR NUMBER PLATE (SN)	NOT NECESSARY	35.00	-
1	REAR NUMBER PLATE HOLDER (SN)	NOT NECESSARY	50.00	-
2	SET REAR TAILLAMP CLIPS L/R @\$20.00 (SN)	NECESSARY	40.00	20.00
			780.00	255.00

Report Ref No. CS/AGI22006251/Aqy3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	LABOUR			
	TO REMOVE, CHANGE AIR CON PARTS, VACUUMS, REFILL AIR CON GAS.	NOT NECESSARY	150.00	-
	TO REMOVE, CHANGE AIR BAG, AIR-BAG SENSOR, AIR-BAG WIRE AND RESETTING SYSTEM.		300.00	200.00
	TO RESET SYSTEM AFTER REPAIR WORKS.		300.00	180.00
	TO REMOVE, REINSTALL ELECTRICAL WIRING HARNESS, CHECK LIGHTING, RESETTING HEADLAMP FOCUSSING AND REWIRE FOR PARKING SENSOR.		80.00	80.00
	TO REMOVE, REINSTALL ROOF TOP TRIM UPHOLSTERY, CUSHION SEAT, TRIM GARNISH, TRIM LINER CARPET. (TO FR)		150.00	80.00
	TO RE-SPRAY PAINTING ON THE CHANGE BODYPARTS, REPAIR PORTION, AND WHERE CONSISTENT TO THE ACCIDENT.		2,000.00	1,100.00
	TO REMOVE AND CHANGE EXHAUST SILENCER BOX WITH PIPE, RE-ALIGN WHERE NECESSARY CONSISTENT TO THE ACCIDENT.		150.00	100.00
	TO PROVIDE LABOUR, WORKMANSHIP TO CHANGE THE ABOVE DAMAGED BODYPARTS, REPAIR, RECONSTRUCT AND RE-ALIGN BODY STRUCTURE, BODY ALIGNMENTS AND DAMAGED CONSISTENT TO THE ACCIDENT. INCLUSIVE OF THE REPAIR OF FRONT BONNET.		2,400.00	1,200.00
	TO APPLY ANTI-RUST CHEMICAL ON REPAIRED AND REPLACED PANEL.		150.00	80.00
			5,680.00	3,020.00
	GRAND TOTAL		43,848.19	26,981.41

	_
RECOMMENDED COST OF LUMP SUM REPAIRS	21,500.00
(TO ITS PRE-ACCIDENT CONDITION)	· · · · · · · · · · · · · · · · · · ·
(10113 PRE-ACCIDENT CONDITION)	

Report Ref No. CS/AGI22006251/Aqy3e2



**ADRIAN LING WAI PING** 

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

**Licensed Appraiser** 

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.